IS

Komnnekrauin
Components

[etani KpoHLWwTEHA
Details of the wall mount

HacTiHHMI KpoHWTeNH
Wall plate
Mo3HayeHHA Kinbkictb
Marking Quantity
@ 1
KpoHwWTenH KpinaeHHA
Mounting bracket
Mo3HayeHHA KinbkicTb
Marking Quantity
1

[nA KpinneHHA NAacTMHU A A0 CTiHK
For mounting the plate A to the wall

KomnneKr KpinneHHn
Set of fasteners

/

Mo3HayeHHA
Marking

©

Kinbkictb
Quantity

\

Orwobensb 10x50 3 wr.

Lypyn 6x60 3 wr.
LLlaba M8 3 wr.

Dowel 10x50 3 pcs
Screw 6x60 3 pcs
Washer M8 3 pcs

[ns KpinneHHa KpoHwTeliHa B go naHeni
For mounting the bracket B to the TV

/

Mo3HauyeHHA
Marking

®

Kinbkictb
Quantity

BUHT M4x12 4 wr.
BUHT M6x12 4 wrT.

Screw M4x12 4 pcs
Screw M6x12 4 pcs

\

IS
F UKR 4 ™

HacTiHHMI dpikcoBaHMM KpoHwWwTenH ana PK (LCD/LED)
TeNneBi3opiB i MOHITOpPIB
KyTu Haxuny Ta NOBOPOTY MOKYTb 3MiIHIOBAaTUCb 3aN1€XKHO BiA AiaroHani Tenesisopa

KSL WM111P

Mpu3HayYeHU ana naHenen 3 KpinuabHMM 6n0kom VESA 75x75, 100x100mm
i MaKcumanbHot Baroto 20 Kr

[akyemo 3a BMbip npoaykuii KSL!
Bca npoaykuin KSL BupobaseTbea B YKpaiHi i Ha Hei HagaeTbes A0BIYHA rapaHTin!
Byab nacka, yBaXKHO 03HaMOMTeCh 3 4AaHOIO IHCTPYKLiE0 Nepes, NOYaTKOM BCTAHOB/IEHHA KPOHLUTENHY!
MoHTa¥ NOBMHEH NPOBOAUTUCH Y CYBOPIl BigNOBIAHOCTI A0 iHCTPYKL;il

IHCTPYKLUiA 3 BCTAaHOBNEHHA

HeobxiaHWi1 AnA BCTaHOBNEHHA iHCTPYMEHT:
— onieup (418 PO3MITKM MicLLb CBEPAJTIHHA)
— piBeHb (419 NPaBUABbHOIO rOPU3OHTANbHOTO BCTAHOB/IEHHA KPOHLUTEMHA)
—nepdopatop i byp giametrpom 10 i LOBKMHOI HE MmeHLe 60 Mm
— BUKPYTKa XpecToBa (419 NPUKPYyYyBaHHA FBUHTIB L0 NaHeni)
— MOJIOTOK (N5 3abuBaHHA aHKepis abo atobenis)
\ — KAtoY raiikosumit Ne10 (a0 3aKpydyBaHHA rBUHTIB abo aHKepiB) /

Fixed wall mount for LCD (LCD / LED)

TVs and monitors
Tilt and turn angles may vary depending on the TV's diagonal

KSL WM111P

Designed for TVs with the mounting unit VESA 75x75, 100x100mm
and a maximum weight of 20 kg.

Thank you for choosing KSL!
All KSL products are made in Ukraine and have the lifetime warranty!
Please read these instructions before installing the wall mount! Installation should be carried out in
strict accordance to the instructions!

Installation Instructions

Tools required for installation:
— Pencil (to mark the drilling locations)
—The level (for proper horizontal mounting bracket)
— Punch and drill diameter of 10 and a minimum length of 60 mm
— Phillips screwdriver (to tighten the screws to the panel)
— Hammer (for driving anchors or dowels)
— Wrench Ne10 (for tightening the screws or anchors)




3aranbHi BUMorn 6e3neku. KpoHWTEeNH NpU3HaYeHUn AN1A BCTAHOBNEHHA Y BHYTPIWHIX NpUMilLeHHAX. Mepl Hix
MOHTYBaTU KPOHLUITENH, nepekoHauTecA y BiACYTHOCTI MPOXOAMEHHA Ha MicCLi KpPiNNeHHA eneKkTpuyHoro Kabesnto,
ra3onpoBo/y, CAHTEXHIYHUX PO3BOAOK i IHLUIMX KOMYHiKaL,ii. Hikonn He BCTaHOBAIOWTE YAaCTUHMU, WO MatoTb AedeKTH.
KpinieHHs, Wo BXoAWTb B KOMINIEKT, MPU3HaYeHe AN 6ETOHHUX 360 LeresIbHUX CTiH, TOBLLMHA WTYKATYPKU HE NOBUH-
Ha nepesuLLyBaTi 3 MM. 1A iHWMX BUAIB CTiIH 3HaZ06UTLCA iHLIE KPinieHHs.

General safety requirements. The wall mount is designed for installation indoors. Before mounting bracket, make sure
no passing in place of mounting electrical cables, gas, plumbing and other communications interconnections. Never
install parts with defects. The included fasteners are designed for concrete or brick walls, plaster thickness should not
exceed 3 mm. For other types of walls need other fasteners.

a Kpok 1
Step 1

~

BUKPYTUTM NOBHIicTIO  ®iKCylouni  TBUHTU  BHU3Y
KpinneHHa. Micna 4yoro pos’efHaTM KPOHLWTENH B i
KPOHLUTEWH A.

Remove the screws from the holes which are located at
the bottom of mount. After that disconnect the bracket
B and the bracket A.

Kpok 2
Step 2

2N

~

BMKOPUCTOBYIOUM KPOHWTENH A y AKOCTI WabnoHy, a
TaKOX PiBEHb 3 KOMMNEKTY iHCTPYMEHTIB, PO3MIiTUTH
Mmicue BCTAHOB/NEHHA KpinieHHA; OTBOPW MOBUHHI
pPO3TalLlOBYBATUCb FOPU3OHTANbHO. BuKopuUcTOBYOUM
nepdopaTtop, npocsepanMTn 3  OTBOPU Yy  CTiHi
aiametpom 10Mm i rnburHoto He meHwe 60 mm. Bctasu-
Tn atobeni C B 0TBOPK. 3aKPiNUTU KPOHLWTENH A Ha CTiHi,
BMKOPMCTOBYIOYM LUYpPYNK i Waiibu 3 komnnekty C. Mpu
HeobXiAHOCTI AOBECTU NONMOXKEHHS KpoHWwTelHa A Ao
rOPU30OHTANbHOrO, MPOKPYTUBLUM MOTO B OBasbHUX
OTBOpAX.

Using A plate as a template and the level of the sets, mark the place of the installation; holes should be placed
horizontally. Using a punch, drill 3 holes in the wall with a diameter of 10 mm and a depth of at least 60 mm.
Put the dowels C in the holes. Fasten the plate A to the wall using the screws and the washers from the set C.If
necessary bring the position of the bracket A to the horizontal by scrolling it in the oval holes.

- /

Ygara! [licna BCTAaHOB/IEHHS KPOHLUTEMHY NepPeBipPUTU HAZINHICTb MOro KPINIEHHA A0 CTiHK.
Caution! After installation the plate check the reliability of the bracket to the wall.

Kpok 3
Step 3

~

Bubpat 3 KOMNAEKTY KpinaeHHA D  reuHTU
BifNOBIAHOI AOBXKMHM i AiameTpy. Bukopucrosyiite
Mle PO3Mip TBUHTIB, BKa3aHWI B iHCTPYKUii A0
Tenesizopa 3akpinnUTM Ha naHeni Tenesisopa
KPOHLUTEWH B, BUKOPUCTOBYIOUM FBUHTM 3 KOMMNNEK-
Ty KpinneHHa D.

Choose from a set of fasteners D screws of an
appropriate length and diameter. Use only the size
of screws specified in the instructions to your TV!
Fasten the brackets B to the TV using the included
screws from the set D.

N /

Yeara! licna BCTaHOB/IEHHA KPOHLUTEHY NepeBipUTU HaAiMHICTb MOro KpinaeHHA 40 NaHeni Tenesisopy.
Attention! After installation, check the reliability of the bracket to the TV.

Kpok 4
Step 4

-~

HaBicutn naHenb Tenesisopa 3 KpinneHHAM B Ha
nnactuHy A. TOBHICTIO BKPYTUTU BUAINEHUI HA
ManoHKY diKcytoumnii rBuHT B oTBip 1.

Hang the TV with the bracket B to plate A and
screw the fixing screw marked in Figure into the
hole 1.

- /

BUPOBHUK MOXKe 3MIHIOBATU KOMM/IEKTALLIIO Ta XapaKTEPUCTUKM BUPODY.
The manufacturer may change the fasteners set and specification the product.




